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FIRET (KF)a—K {TERHET (KF) 4 99 100l E AOEt

10 HAT 0 0 156
20 &+ HT 1 0 181
30 @7 0 1 232
40 SRET 0 0 124
50 KET—T B 0 0 312
60 KET=TH 1 1 220
70 RET=TH 1 0 345
80 ¥ATIHET 0 0 33
90 FEHNIT I ET 0 1 208
100 dt D HLET 0 0 136
110 T HT 2 0 1335
120 ¥A;TAHT 0 1 254
130 #&FHT 0 0 395
140 EAERT 0 0 8
150 & FFrHET 0 0 335
9999 K IFHXET 5 4 4274
510 RETIHT B 0 0 428
520 HEEEHT 0 0 161
530 /\T&HET 0 1 256
540 15 = HT 0 0 437
550 FithET 0 1 366
560 =ZEMT 0 0 65
570 EEHT 0 0 67
580 ¥TEAHET 0 0 134
590 ¥ ;EHT 0 0 66
600 ZERET 0 1 675
610 FHT 0 0 167
620 ¥EET—TH 0 0 0
9999 /\ & X5t 0 3 2822
1010 3 A HT 0 0 217
1020 £ FHT 0 0 362
1030 A1 FHT 0 0 345
1040 75/ HT 0 0 550
1050 £ HAHET 0 1 668
1060 F _EHT 0 1 546
1070 #y[RHET 0 0 674
1080 & HHET 0 0 446
1090 HEHT 0 1 697
1100 £ BHEHT 0 1 597
1110 {2 1EHT 1 0 155
1120 $21E JTHT 0 1 79
1130 +4&HT 0 0 28
1140 FkJRHET 0 0 16
1150 F/RET—T B 0 1 222
1160 F/RETZT B 0 0 251
1170 ;& 7KHET 0 0 172
1180 EE&FLHET 1 2 244
1190 #&FAHT 0 0 191
1200 XFHEI—TH 0 0 141
1210 XFHEIZTH 0 0 170
1220 FrHT 0 0 158
1230 %KHET 0 0 174
1240 B EHT 0 0 125
1250 fEEHET 0 0 141
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1260 JEHR & 0 1 43
1270 = EHT 0 1 113
1280 FRAHET 0 0 148
1290 £RHT 0 1 182
1300 & ZEHRT 0 0 137
1310 RJLHT 0 1 89
9999 XH X ET 2 12 8081
1510 B4 BT 0 0 820
1520 }EHI T HET 1 0 774
1530 HEHNTHT 0 0 332
1540 K{23FHT 1 0 593
9999 HEMMRE X ET 2 0 2519
2010 = S5 T 0 0 199
2020 % &7l 0 0 311
2030 ;AT 0 0 20
2040 ;HET—T B 0 2 217
2050 ;ET=T H 0 0 220
2060 Hg1F 0 0 49
2070 +RET—TH 0 0 264
2080 +ETZTH 0 0 213
2090 AT 0 0 1892
2100 fhiLHET 0 0 275
2110 }EWETET—T B 0 0 257
2120 {ENNEBT =T B 0 0 292
9999 ZERXET 0 2 4209
2510 #AUEET 1 2 2341
2520 sk EEmT 1 2 1464
2530 = /NRHET 0 0 385
2540 Fi5HET 0 0 483
2550 ;HHET 1 1 267
2560 = SHT 1 1 1007
2570 KEHT 0 0 96
9999 MERXET 4 6 6043
3010 K#THT 4 0 1065
3020 ;T HT 0 1 1013
3030 L EFHT 2 1 875
3040 B LHET 0 1 146
3050 BT 0 2 2263
3060 B THT 0 1 518
3070 THESEHT 1 0 537
3080 HHHHT 1 0 502
3090 HHEHT 0 0 474
3100 HhFaHET 1 0 513
3110 EHAILHET 0 1 479
9999 /\FiE& X &t 9 7 8385
3510 27 _EHT 0 0 203
3520 R chf 2 1 397
3530 2R THT 1 1 1048
3540 &= B KHT 0 1 426
3550 AETHT 0 0 865
3560 = T ERAT 0 0 305
3570 = T FaMT 0 0 840
3580 FLIFTHT 1 0 526
3590 EHT 0 0 16
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9999 S HKXET 4 3 4626
4010 41| BT 0 0 347
4020 {E&SHT 1 1 93
4030 5HT 0 1 258
4040 = HEAHT 0 1 259
4050 7K /T 0 1 523
4060 ESZ FHHAT 1 1 407
4070 Jt/RHET 0 1 209
4080 =;I;HAMT 0 0 248
4090 FRERHT 0 0 344
4100 Fg<FEFOET 0 0 147
4110 Jt FFET 0 0 186
9999 &I XET 2 6 3021
4510 AREE—ZHT 2 0 767
4520 AREE— ZEHT 0 1 208
4530 EREE=FEHT 0 0 210
4540 EREEIUZEHET 1 0 166
4550 EREE L FHT 0 0 118
4560 AR EENEEHET 0 0 97
4570 EREE-HFHET 0 0 174
4580 EREE)\ZHET 0 0 105
4590 EREE N FEHT 0 0 170
4600 EREE-+ZEHET 0 0 217
4610 EREE+—ZFHET 0 0 254
4620 EREE+ —ZEHT 0 0 372
9999 FRERXET 3 1 2858
5010 FAFNH HEHT 0 0 247
5020 HAF0BAEMET 0 0 230
5030 FRFNRI{ZHT 0 0 268
9999 MAFIRXET 0 0 745
5510 b R HET 0 1 234
5520 = HhHET 0 0 673
5530 7= M7 0 1 522
5540 MY 1 0 285
5550 EEHT 0 0 67
9999 =R X 5t 1 2 1781
6010 [EIAT/ME& 0 0 109
6020 [E]HT 5 1 0 127
6030 RGBT A I 0 0 108
6040 EiZEFHET 1 0 231
6050 JI|AMBTE 0 0 164
6060 JI|EHATFE 1 2 132
9999 FEERXET 3 2 871
6510 B & AHBHET 0 0 26
6520 HZEAKIEHET 1 0 222
6530 HE AFTHHET 0 1 103
6540 HZEAILTHT 0 0 201
6550 B =AM Z NHET 0 0 105
6560 &= ALEILHET 0 0 144
6570 B E ALERIHET 0 1 155
6580 H&EAEHT 0 0 95
6590 HZE ATKHET 0 1 61
6600 B &= AHHT 0 0 90
6610 HEA L FGHT 1 0 50
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6620 HZE A FGHET 0 0 59
6630 HZEA T AT 0 0 98
6640 B & A EiHlT 0 0 37
6650 B &= ASRHT 0 0 2
6660 H Z A RLHET 0 0 32
9999 HEAKKET 2 3 1480
7010 Z R MO ET 1 0 180
7020 — R AHT 0 0 257
7030 — R FRHNET 0 0 111
7040 — R T KEFHET 0 1 227
7050 — R ¥7 H I HET 0 0 125
9999 — R&XEt 1 1 900
8011 JRAHTFEERL 0 0 72
8012 YR AHTFEERA 0 0 145
8013 JRAHRTFAERIL 0 0 83
8021 HRAHTZEKLY 0 0 87
8022 IR AHTIEKA 0 0 4
8023 R AHETEKIE 0 0 10
8031 IRAHTH ALY 0 1 190
8032 JABTHAA 0 0 12
8033 IRAHTH AL 0 0 16
8041 YR AHETHELIFL 0 0 61
8042 IR AHTELIRA 0 1 30
8043 R AHET LRI 0 0 19
8044 IR AHTELIRIZ 0 0 33
8045 IR ABTELIF T 0 0 52
8050 IR AHT IR A 0 0 176
8060 IR AHTFT# 2 0 146
8070 JRAHBTER 0 0 151
8080 Ir AHT &k 0 0 62
8090 IR AHTHEE 0 0 48
8100 JRAHETH /1% 0 0 26
8110 3RZAHTJI| 5k 0 0 56
8120 YR AHTEE 0 1 100
8130 JRAHTH L 0 0 95
8140 IRABTEERT 0 0 141
8150 IRAHTHFK L 0 0 90
9999 AKX ET 2 3 1905
9010 FTHTAKEH 1 3 662
9020 FTHTEE R 1 0 409
9030 FTHTH &£ H 0 2 1265
9040 F+THTHEH 1 2 1499
9999 FTH#XEt 3 7 3835
9110 SERT T HIE 1 0 595
9120 $EETH L 0 0 294
9130 $EHTH & 0 0 146
9140 SERT T4 0 0 467
9150 $EET L 55 0 2 537
9160 SEETERHT 0 2 819
9170 $RETANH 1 1 1001
9180 SEMETEE 0 0 669
9190 $EHTZ O 0 0 248
9200 FEHETEFIF 0 1 236
9210 $RAT = H 0 0 414
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9220 $RHTHE H 1 2 650
9230 ST B M 1 1 728
9240 SEETIE K 0 0 285
9250 FEETALHith 0 0 707
9999 R X &t 4 9 7796
9310 H[ZHET:R 0 0 224
9320 EFHATIL 1 0 260
9330 FR[ZHET/INE 0 0 163
9340 R [ZHTRY 1 3 439
9999 HEHXET 2 3 1086
9410 RETT & 0 1 416
9420 RHETHHE 0 0 227
9430 RETERK 0 0 154
9440 RETAEF 0 0 11
9450 RETHEIR 0 0 22
9460 RET{—_HE 0 0 32
9470 RETZER 0 0 7
9480 RHETHER 0 0 59
9999 RIXXET 0 1 928

99999 H& St 49 75 68165



